Corso matematica Data:

TC Esercizi di apprendimento sul calcolo dell’area
del cerchio

1. Un cerchio ha il raggio di 3 cm.
Calcola la sua area.

2. Un cerchio ha il diametro di 6 cm.
Calcola la sua area lasciando = nei calcoli e nel risultato.

2’42 CIMY ot

4. Trova il raggio di un cerchio equivalente a un quadrato di perimetro 42
cm (equivalente significa “che ha la stessa area”).




Se ti resta tempo...

5. Un esagono regolare & inscritto in una circonferenza. Sapendo che il
perimetro del poligono misura 174 cm, determina la lunghezza della
circonferenza e I'area del cerchio da essa definito.

Fai prima uno schizzo della situazione.

Far a vime I
stood pondering or circie
siFes. The large ComEUTer

meieframe guietly processed =il of its
azssamkly code. Ipside =y entire hope lay for
figuring poQut an a&lusive e¥pangion. Value: pi.
Decimals ezxpected spon. I omervously emetered & formst
precedure . The mairnframe processed the regquest.  Error,

I, agairm apteripg it, carafulily retyped. This iteratipn gave
2erg errar priepktputs in all - success. Jptemtiy I walted.
Sooz,

roused by thoughts within me, appeared marrative mnemcpics
releting digits to verbiage! The idea appearad to  exist  but

only

iz abbrevieted Ffasghiop - little phrages typlcellp. Pressipgy on I
then reselved, deciding firmlv about & sum of decimals to use - likely
around four  hundred, presumizg the computer cpde spop Ralted!

Fondering thexe ideas, words appealed to me. Eut 2 problem of zerpgs did
mxist. Popdering more, spluticn sobsaguently appsared. Jero suggests g
punctuetion element. Verp movel! By thougdts were culmirasted.
pariods, I comcluded. All residual marks of punctuztlor = gerps. Furst
digit expsusicr saswer then camwe before me. On examining some problems
uphappily arcse, That imbecilic bug! The primtout I possessed showed four
rine ag foremest Hdecimals. Manifestly trouwbIding. Totelly every number
lagoked wrong. Repairing the Dug tock mpuck effcrt. A pi mremonic wilth
letters truly seemed good. Counting of 211 thke legtters robebly showld
suffice. HReachind for a record would be helpful. Conseguently, I
contimed, expectieg a good finel amswer from computer., First npumber
slowly displayed oo the the flat sereen - 3. Good. Treiling digits

apparerntly ware right slso. Kow ny memory scheme must probably e

implementakle. The techmigue was cHosen, elegart in scheme: by self

refarence A tale noemonicellv kelpful was ensured. aAnr able *f$Itle
suddenly existed - “Cirele Digits". Teking per I begar. Words
emarated wxeasily. I dexired more synoayms. Speedily I found @Dy
{alopgeide ame]! Thesaurus. FRogets is probakly an essential in
doing this, instantlw I decided. I wrole and erased more.
Tha Rogets clearly assisted immensely, My Story
procagded (how lgvely'!) Faultlessly. The end, above
all, would sgonm jovfully overtake. So, this memory
helper Story if Ipcontestably complete, Socon I
will locate pabiisher. There & narrative
will I truet Iimmediately appear,
producing fame. THE END,




